oO0O0ooogd g90

4 0O0O0O0O0O0OO

gbouogbogbogbboobogbuooboobogboo
gbobboooobbboodobbbod

4.1 0O0O0OO

oooooooooboo rOO0OD0ODO PODOOOOO OP
OO0oo0oo0o pO0O0O0OOOOOOODOODOODODOODOD
ooooooooboobooooooboboo oPO OO DODDO
P=(r,0)0000000000O0ODOO0OOOOOODOODODOO
oooobobob0 orPUO 0UD00 ODUOODODOOOO ODOD
gbgobooboboboobooboobooboobo

P

N
N

20000000000 000 2z 0000000O0DOODOOO
gbooboobooobon

OO0 100000000 opO00OO0OOOODOODOODODO
O0¢O0O000OPOODODO (r,y)OODOO

[ cosf =x sinf =y ]

goooo

P(z,y)




OO00z#0000

tanf = v
T

OOobooobbO tang OO0 0O0OD0OODOO xz=000000000
goboboboodo n0OD0OO

s
0=—
5 + nm

000000000
9¢g4meDDDDDDDC%9¢ODDDD

sin
tanf =

cosf

gooo
pPOOD010000DO0ODODLDOOOO AODODLO

[ sin? @ + cos?26 = 1 ]

gooobog

e 00OUDO »0000Osinx, cosx 0O0D0ODOO 2000
dobobooooobbodd tane OO

R—{x‘x:%—l—nw, nEZ}

gobobooooobboooooon

esinz 0 UO0OOUOcosz 0 DOOO0OOtanxz O ODOODO O
Oo0ooooo oooo oooo

Yy =sinx

N
/—277 -7 71'\/271’

95



Yy =tanx

|
S
NIE]

gboobooooboboooobo

1 1
- , secx = , cotx =
sin x CoS T tan x

00000000 00000,0000,0000000 O
00 WOcosecz 0 cscx 00000 OOOO

cosecr =

gbobboobodb n0000D0

sinz = sin(z+2n7), cosx = cos(x+2nm), tanz = tan(z+nm)

gooobog

000000 f(z) 00000000000 pOOO0OOOf
000000000 20000 f(z)=flzx+p) 00000
00f000p 00000 00000000000000
00Osing, cosz 0000 2r 000000000 tanz 00
0000000000

gobobooodob 0000

sin(—z) = —sinz, cos(—x) = cosx

000000 000 tan(—z)=—tanz 0000

D000 000000000D00000000D0000000000000
oboooooboooooboboooooboooogooboo

o6



e 000000000 20000 f(-2)=—f(z) 00000
00000 f(—2)=f(z) 000000000 O00Ocosw
00000000sing, tane 00000000

f(x)00000000000000 (2, f(z)) 0000(-z, f(—2)) =

(—z, f(z))0000000000000000f(z) 0000
0y00000000000

f(x)00000000000000 (z, f(z) 0000(—2, f(—2)) =

(—z,—f(z)) 0000000000000000f(z) 000
0D00000000000000

000041 0000000
(1) f(z),g(z) 0000000 fz)g(x)00000000
(2) f(z),¢(zx) 0000000 fz)g(x) 00000000
3) f(x) 00000g(zx)0000000 f(z)g(z)00000000

00 41 [0000] 000 OABODOOOOA=/ZA0B00000
AB? = 0A? + OB* —20A - OB cosf

Oooood

000042 0041000000

00 42 [0000] 000 ABCOOOODOOOO A B,CODO
o000 A B, COO0DODOODOODOODOODOODOO
Oae b cO0000O0DO0O0OODOOODODOOODODOD rODOOO
gbobbooogboo

a b ¢
sinA  sinB  sinC

oboo 4.3 00 42000000

2r

sin,cos UUOUOUOOOODOOOOO0OOODOOOO0

sin(aw + 8) = sinacosf + sin 5 cos a
cos(a + ) = cosacosf —sinasinf

00000000000000000000 (z,y) 000000
000000000 00000000 0O0O0ODO (,y)OODOO
gbobobooogn

¥’ =z cosf —ysinb (1)

y = xsinf + ycosb (2)

goboobooboooogn

57



(0,0)

000044 00 (1),(000000

O000(x,y) 00DO00000O0z =cosa,y =sina 00000
00000 p=000000000000O0

V3 1

gbobooodgbobuoobgoobodgbobooboban

n n_ n
—7r,—7r,§7r(nGZ)DDDDDDDDDDDDDDDDDDD

6 4
gboboboogooilibobbbooogbobobooooboboboo

00000000000000000000000000000
0000000000000000000000000000000
00000000000000000000000

oo sin(x—i—%) zcosx,cos<x+%) =—sinz J0OO0OD
00000000000000000 (000)0000006% =
am%+mm%:iDDDDDD

(vt 5) tisin(z 4 ) =ewi (o4 5) =emivemis

cos(z+ — ) +isin(z+—) =expi|x+ —) =expirexpi—

2 2 P 2 PPy
=exp (ix)i = (cosz +isinx)i

= —sinx +1cosx

0ooooooO0O00O0O0oooon
m%x+%):wwDDDDDDDDDDDDDDDDDDD

gooboooon
y=f(x) 000002000000 «Oy0OO0OO0OOO0OBOOO
goboboobooogn

y—b= f(r—a)

o8



DDDDDan@H~g>:sm<x—(—%)>mmmy:sm<x+g)

0000 y=sinz00000 J?DDDDDD—%(DDDDI

gooooo %)DDDDDDDDDDDDDDD y=-cosx U
gbobobooodgn

o455 0OOO0OOOOOOO0OO0OOODOOOOOODOOO
0 @0
(1)
. ™ . 7T
sin (:r;—i-?) =cos z, sm( ——) = —CosT
™ ) 7T .
COS (x—l——) = —sinx, COS (x——) =sinzx
2 2
(2)
sin(x £ 7) = —sinz, cos(x £ ) = —cosx

(3) tanz OO ODOODO

tan a 4 tan 8
1 —tanatanf’

tan a — tan 3
1+ tanatan

tan(a + 3) = tan(a — ) =

(4 DODOOO
sin2r = 2sinzcosx, cos2x = cos’ r—sin’z = 2cos’z—1 = 1—2sin’z
(5) 3000000

sin 3z = —4sin® z + 3sin z, cos3z =4cos® x — 3cosx

(6) 0O0DODOO

9 1 — cos2z 9 1+ cos2zx
smx:T, cos‘y = ———

pDooD000000000000000000000000000000
ooooobobooobooobooobobooooboooboboobooboooboobooooo
gobooboooboooboobobooobooobooobooOoooboooobooao
ooooooooboo

59



(7y 00000

sina+sinf = QSin(a;B)cos(a;ﬁ)
sina —sin 8 = QCOS<Q;B>SH]<Q/;B>
cosa+cosff = QCos(a—i_ﬁ)cos(a;B)

cosa —cosfi = —ZSin( +ﬂ>sin(a_ﬂ>
2 2

(8) ODOOOO

sinasinf = —%{COS(OH—B)—COS(CV_B)}

sinavcos S = % { sin(a + ) 4 sin(a — 5)}
cosasinff = % { sin(a + ) — sin(a — /3)}
cosacos B = %{cos(oz—i-ﬂ) +COS(04—5)}

60



